24196

B. Tech. 4th Semester (Civil)
 Examination, May-2016
FLUID MECHANICS-1II
Paper—CE-204-F

Time allowed : 3 hours] [Maximum marks : 1 00

Note : Students are required to attempt any five question
and students have to attempt first common Question,
which is compulsory, and one question from each .
four section.

1.  Explain the following:

(a) Laminar and turbulent flow

(b) Cavitation

(¢) Agingof pipe i

(d) Airhitpump

(e) Surges in open channel | //

(f) Priming T
(g Components of centrifugal pump |

(h) Net positive suction head

(i) Drafttube

(j)  Total Energy line. 2x10=20

Section-A

2. A smooth pipe of dia 400 mm and length 800m carries
-~ water at the rate of 0.04 m%s. Determine the headlost
due to friction, wall shear stress, centre line velocity
and thickness of laminar sub-layer. Take Kinematic
Viscosity of water 0.18 stokes. 20
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